
WORKSHEET 2 
Name Teacher's signature: 

Class Date: 

A. Fill in the blanks. 

2. 5.255 km 1. 9.3 cmn cm mm. m 

4. 2009 m km 3. 24.5 km- 

59000 mg=- 6. 6g- mg 

7. 0.250 kg=. 8. 50.5 L= mL 

9. 0.200 L= mL 10. 8555 mL= L 

B. Add. 
2. 2L680 mL+9 L 350 mL 

1. 60 m 35 cm+ 105 m 70 cm 

4. 18 km 350 m +9 km 250 m 

3. 5 kg 300g+ 14 kg 120 g 

C. Subtract. 
2. 25 m 32 cm- 18 m 40 cm 

1. 40 L 250 mL - 18 L 150 mL 

4. 102 kg 200 g-19 kg 800 g 
3. 35 km 800 m -13 km 600 m 

D. Solve. 

1. A pole is 49 m 25 cm long. What is the total leugth of 56 such poles? 

2. 3 children weigh 28.316 kg, 19.250 kg and 36 kg. Find their total weight. 



A. Complete the table. 

IN SMALLER USITS IN BIGGER UNITS 
S. NO. MEASUREMENTT 

940 cm 
9 m 40 cm 9.40 m 

8,900 kg 2 
750 mL 

3. 

4. 5L 426 mL 

5 4 m 23 cm 

2.825 L 6 
5056 g 

7 

8. 23 kg 120g 23.120 kg 

R SolyNe 
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